



# On the Solvability Conditions for the Neumann Boundary Value Problem

Valery V. Karachik\*<sup>1</sup> and Sanjar Abdoulaev<sup>2</sup>

<sup>1</sup>Department of Mathematical Analysis, South-Ural State University, Pr. Lenina 76, Chelyabinsk, 454080, Russia.

<sup>2</sup>Department of Computational Mathematics, Pr. Lenina 76, Chelyabinsk, 454080, Russia.

**Research Article**

Received: 28 June 2013

Accepted: 18 July 2013

Published: 23 July 2013

## Abstract

In previous work of the first author, a solvability condition of the Neumann boundary value problem for the polyharmonic equation in the unit ball was obtained. This condition has a form of equality to zero of some integral of a linear combination of the boundary functions. In the present paper coefficients of that linear combination are explicitly obtained. In the investigation an arithmetical triangle is arisen. For elements of this triangle a recurrence relation similar to binomial coefficients is derived. It managed to get an explicit solution of the recurrence relation obtained.

*Keywords:* Neumann boundary value problem; polyharmonic equation; Vandermonde determinant; arithmetical triangle

2010 Mathematics Subject Classification: 11B75, 11B37, 65Q30, 11C20, 35J40

## 1 Introduction

Consider the homogeneous Neumann boundary value problem (see, for example, [(1), (4)]) for the polyharmonic equation in the unit ball  $S = \{x \in \mathbb{R}^n : |x| < 1\}$

$$\Delta^k u(x) = 0, x \in S; \quad \frac{\partial^j u}{\partial \nu^j} \Big|_{\partial S} = \varphi_j(s), s \in \partial S, \quad j = \overline{1, k}, \quad (1.1)$$

where  $\nu$  is the outer normal to  $\partial S$ . More general boundary value problem containing higher order polynomials on normal derivatives in the boundary condition:  $P_j(\partial/\partial \nu)u|_{\partial S} = \varphi_j(s)$  is investigated in (3). Solvability Theorem for this problem was proved. Special case of Theorem from (3) is the following statement.

Let  $t^{[k]} = t(t-1) \dots (t-k+1)$  be a factorial power of  $t$ . Consider a nonsingular matrix  $C_k = ((-1)^i \binom{j}{i})_{i,j=\overline{0,k-1}}$ , where  $\binom{j}{i} = 0$  when  $j < i$ .

\*Corresponding author: E-mail: karachik@susu.ru



It is not hard to see that

$$\Delta_k^0 = \begin{vmatrix} 2^{[1]} & \dots & 2^{[k-1]} \\ 4^{[1]} & \dots & 4^{[k-1]} \\ \vdots & \ddots & \vdots \\ (2k-2)^{[1]} & \dots & (2k-2)^{[k-1]} \end{vmatrix} = 2 \cdot 4 \cdot \dots \cdot (2k-2) \begin{vmatrix} 1 & \dots & 1^{[k-2]} \\ 1 & \dots & 3^{[k-2]} \\ \vdots & \ddots & \vdots \\ 1 & \dots & (2k-3)^{[k-2]} \end{vmatrix}$$

$$= (2k-2)!! \begin{vmatrix} 1 & \dots & 1^{k-2} \\ 1 & \dots & 3^{k-2} \\ \vdots & \ddots & \vdots \\ 1 & \dots & (2k-3)^{k-2} \end{vmatrix} = (2k-2)!! W[1, 3, \dots, (2k-3)] = (2k-2)!!(2k-4)!! \dots 2!!,$$

where  $W[\lambda_1, \dots, \lambda_{k-1}]$  denotes the Vandermonde determinant of order  $k-1$ . Here the equality

$$\begin{vmatrix} \lambda_1^{[0]} & \dots & \lambda_1^{[k-2]} \\ \lambda_2^{[0]} & \dots & \lambda_2^{[k-2]} \\ \vdots & \ddots & \vdots \\ \lambda_{k-1}^{[0]} & \dots & \lambda_{k-1}^{[k-2]} \end{vmatrix} = \begin{vmatrix} \lambda_1^0 & \dots & \lambda_1^{k-2} \\ \lambda_2^0 & \dots & \lambda_2^{k-2} \\ \vdots & \ddots & \vdots \\ \lambda_{k-1}^0 & \dots & \lambda_{k-1}^{k-2} \end{vmatrix} = W[\lambda_1, \dots, \lambda_{k-1}]$$

was used. Therefore the system (2.1) is uniquely solvable for any  $b_k^k$ . Choose  $b_k^k = \pm 1$ , but so that  $b_k^1 > 0$ .

To calculate  $\Delta_k^s$  consider more general case. Let  $\lambda_1, \dots, \lambda_{k-1} \in \mathbb{C}$  and  $k > 1$ . Denote

$$\Delta_k^s(\lambda) \equiv \Delta_k^s(\lambda_1, \dots, \lambda_{k-1}) = \begin{vmatrix} \lambda_1^{[1]} & \dots & \lambda_{k-1}^{[1]} \\ \vdots & \ddots & \vdots \\ \lambda_1^{[s-1]} & \dots & \lambda_{k-1}^{[s-1]} \\ \lambda_1^{[k]} & \dots & \lambda_{k-1}^{[k]} \\ \lambda_1^{[s+1]} & \dots & \lambda_{k-1}^{[s+1]} \\ \vdots & \ddots & \vdots \\ \lambda_1^{[k-1]} & \dots & \lambda_{k-1}^{[k-1]} \end{vmatrix} = (-1)^{k-s-1} \begin{vmatrix} \lambda_1^{[1]} & \dots & \lambda_{k-1}^{[1]} \\ \vdots & \ddots & \vdots \\ \lambda_1^{[s-1]} & \dots & \lambda_{k-1}^{[s-1]} \\ \lambda_1^{[s+1]} & \dots & \lambda_{k-1}^{[s+1]} \\ \vdots & \ddots & \vdots \\ \lambda_1^{[k-1]} & \dots & \lambda_{k-1}^{[k-1]} \\ \lambda_1^{[k]} & \dots & \lambda_{k-1}^{[k]} \end{vmatrix} \quad (2.3)$$

and  $\Delta_k^0(\lambda) = \det \left( \lambda_j^{[i]} \right)_{i,j=1, \dots, k-1}$ . Dimension of all  $\Delta_k^s(\lambda)$  ( $s = \overline{0, k-1}$ ) is  $k-1$ .

**Lemma 2.1.** For integer  $k > 1$  and any integer  $s$  such that  $1 \leq s \leq k$  the following equality holds

$$s^{[1]} \Delta_k^1(\lambda) + \dots + s^{[s]} \Delta_k^s(\lambda) = -\Delta_k^0(\lambda) s \prod_{i=1}^{k-1} (s - \lambda_i). \quad (2.4)$$

*Proof.* Let  $s$  be an integer and such that  $1 \leq s \leq k-1$ . Consider determinant of the form

$$V(s; \lambda) = \begin{vmatrix} s^{[1]} & \lambda_1^{[1]} & \dots & \lambda_{k-1}^{[1]} \\ \vdots & \vdots & \ddots & \vdots \\ s^{[s-1]} & \lambda_1^{[s-1]} & \dots & \lambda_{k-1}^{[s-1]} \\ s^{[s]} & \lambda_1^{[s]} & \dots & \lambda_{k-1}^{[s]} \\ 0 & \lambda_1^{[s+1]} & \dots & \lambda_{k-1}^{[s+1]} \\ \vdots & \vdots & \ddots & \vdots \\ 0 & \lambda_1^{[k]} & \dots & \lambda_{k-1}^{[k]} \end{vmatrix},$$

having dimension  $k$ . Open it by the first column. According to (2.3) and taking into account the equality  $s^{[i]} = 0$ , which is true for  $i > s$ , we have

$$V(s; \lambda) = (-1)^{k-2} s^{[1]} \Delta_k^1(\lambda) - (-1)^{k-3} s^{[2]} \Delta_k^2(\lambda) + \dots + (-1)^{s-1} (-1)^{k-s-1} s^{[s]} \Delta_k^s(\lambda) = (-1)^{k-2} \left( s^{[1]} \Delta_k^1(\lambda) + \dots + s^{[s]} \Delta_k^s(\lambda) \right).$$

On the other hand. Take out the multiplier  $s$  from the first column, and the multiplier  $\lambda_{i-1}$  from the  $i$ th column for  $i > 2$ . It is not hard to see that the obtained determinant with the help of linear combination of rows lead to the Vandermonde determinant  $W[s, \lambda_1, \dots, \lambda_{k-1}]$ . Therefore

$$V(s; \lambda) = s \lambda_1 \dots \lambda_{k-1} W[s, \lambda_1, \dots, \lambda_{k-1}] = s \prod_{i=1}^{k-1} \lambda_i (\lambda_i - s) W[\lambda_1, \dots, \lambda_{k-1}] = s \prod_{i=1}^{k-1} (\lambda_i - s) \Delta_k^0(\lambda) = (-1)^{k-1} s \prod_{i=1}^{k-1} (s - \lambda_i) \Delta_k^0(\lambda).$$

So, we obtain the equality

$$(-1)^{k-1} s \prod_{i=1}^{k-1} (s - \lambda_i) \Delta_k^0(\lambda) = (-1)^{k-2} \left( s^{[1]} \Delta_k^1(\lambda) + \dots + s^{[s]} \Delta_k^s(\lambda) \right).$$

From here it follows (2.4). □

### 3 Auxiliary Identities for Numbers $b_k^s$

Let us use Lemma 2.1 to find the numbers  $b_k^s$ .

**Lemma 3.1.** For every integer  $k > 1$  and  $s$  such that  $1 \leq s \leq k - 1$  the following equality holds

$$s^{[1]} b_k^1 + \dots + s^{[s]} b_k^s = (-1)^{k+1} 2^k \left( \frac{s}{2} \right)^{[k]}. \tag{3.1}$$

*Proof.* According to the above notation  $\Delta_k^s(2, \dots, 2k - 2) = \Delta_k^s$  and therefore by Lemma 2.1 for  $\lambda_i = 2i$  we have

$$s^{[1]} \Delta_k^1 + \dots + s^{[s]} \Delta_k^s = -\Delta_k^0 \prod_{i=0}^{k-1} (s - 2i) = -2^k \left( \frac{s}{2} \right)^{[k]} \Delta_k^0. \tag{3.2}$$

Hence for  $s = 1$  and  $k > 1$  we obtain

$$\Delta_k^1 = -\Delta_k^0 2^k \left( \frac{1}{2} \right)^{[k]} = (-1)^k \Delta_k^0 (2k - 3)!!.$$

Remembering system (2.2) by the Cramer's rule we find

$$b_k^s = \frac{\det(A_1, \dots, A_{s-1}, -b_k^k A_k, A_{s+1}, \dots, A_{k-1})}{\det A} = -b_k^k \frac{\Delta_k^s}{\Delta_k^0}.$$

For  $s = 1$  we have

$$b_k^1 = -b_k^k \frac{\Delta_k^1}{\Delta_k^0} = (-1)^{k+1} b_k^k (2k - 3)!!$$

and hence  $b_k^1 > 0$  if  $b_k^k = (-1)^{k+1}$ . Thus  $b_k^s = (-1)^k \frac{\Delta_k^s}{\Delta_k^0}$ . Therefore, dividing the equality (3.2) by  $\Delta_k^0 \neq 0$  and multiplying it by  $(-1)^k$  we obtain (3.1). □

From the proof of Lemma 3.1 it follows that

$$b_k^1 = (2k - 3)!! \text{ for } k > 1; \quad b_k^k = (-1)^{k+1} \text{ for } k \geq 1. \tag{3.3}$$

Hence, we have found the left and right sides of the arithmetical triangle  $B$ , consisting of numbers  $b_k^s$  (1.2).

**Lemma 3.2.** For  $k \in \mathbb{N}$  and integer  $s$  such that  $1 \leq s \leq k - 1$  the numbers  $b_k^s$  are defined by the equality

$$b_k^s = (-1)^{k+s} \frac{2^k}{s!} \sum_{j=1}^s (-1)^{j+1} \binom{s}{j} \left(\frac{j}{2}\right)^{[k]}. \tag{3.4}$$

*Proof.* Let us define  $\tilde{b}_k^s = s!b_k^s$  and suppose that  $\binom{a}{b} = 0$  for  $b > a$ . Then (3.1) can be written in the form

$$\binom{s}{1} \tilde{b}_k^1 + \dots + \binom{s}{s} \tilde{b}_k^s + \dots + \binom{s}{k-1} \tilde{b}_k^{k-1} = (-1)^{k+1} 2^k \left(\frac{s}{2}\right)^{[k]}$$

and therefore the vector  $\tilde{b}_k = (\tilde{b}_k^1, \dots, \tilde{b}_k^{k-1})$  is a solution of the algebraic system

$$C' \tilde{b}_k = (-1)^{k+1} 2^k \left(\frac{j}{2}\right)^{[k]}_{j=\overline{1, k-1}}$$

with the matrix  $C' = \left(\binom{i}{j}\right)_{i,j=\overline{1, k-1}}$ . It is not hard to check that the triangular matrix  $C'$  is invertible and  $C'^{-1} = \left((-1)^{i+j} \binom{i}{j}\right)_{i,j=\overline{1, k-1}}$ . This follows from the following equality ( $i \geq j$ )

$$\begin{aligned} \sum_{s=1}^{k-1} (-1)^{s+j} \binom{i}{s} \binom{s}{j} &= (-1)^j \sum_{s=j}^i (-1)^s \binom{i}{s} \binom{s}{j} = (-1)^j \frac{j!}{j!} \sum_{k=0}^{i-j} \frac{(-1)^{k+j}}{(i-j-k)!k!} \\ &= \frac{i!}{(i-j)!j!} \sum_{k=0}^{i-j} (-1)^k \frac{(i-j)!}{(i-j-k)!k!} = \binom{i}{j} \delta_{i-j,0} = \delta_{i,j}. \end{aligned}$$

Therefore

$$\tilde{b}_k = (-1)^{k+1} 2^k \left(\sum_{j=1}^{k-1} (-1)^{i+j} \binom{i}{j} \left(\frac{j}{2}\right)^{[k]}\right)_{i=\overline{1, k-1}}$$

and then using that  $\tilde{b}_k^s = s!b_k^s$  we obtain

$$b_k^s = (-1)^{k+s} \frac{2^k}{s!} \sum_{j=1}^{k-1} (-1)^{j+1} \binom{s}{j} \left(\frac{j}{2}\right)^{[k]}.$$

From here it follows (3.4). □

Let us check the formula (3.4) for  $s = 1$ . We have  $b_k^1 = (-1)^{k+1} 2^k \left(\frac{1}{2}\right)^{[k]} = (2k - 3)!!$ , which coincides with the obtained above. Calculate the unknown number  $b_k^2$ . Form (3.4) for  $k > 1$  we obtain

$$b_k^2 = (-1)^{k+2} 2^k \left(\frac{1}{2}\right)^{[k]} = -b_k^2 = -(2k - 3)!! \tag{3.5}$$

Thus we have found the values on the first cross row which is parallel to the left side of the triangle (1.2). For  $k = 2$  we have the known value of  $b_2^2 = -1$ . Let us try to transform the formula (3.4) to more compact form. Denote  $f^{(k)}(t) = \left(\frac{d}{dt}\right)^k f(t)$ .

**Lemma 3.3.** For  $k \in \mathbb{N}$  and integer  $s$  such that  $1 \leq s \leq k$  the following equality holds

$$b_k^s = (-1)^{k+1} \frac{2^k}{s!} \left( (\sqrt{t} - 1)^s \right)_{|t=1}^{(k)}. \tag{3.6}$$

*Proof.* It is not hard to see that

$$\left( \frac{j}{2} \right)^{[k]} = \frac{j}{2} \left( \frac{j}{2} - 1 \right) \dots \left( \frac{j}{2} - k + 1 \right) = \left( t^{\frac{j}{2}} \right)_{|t=1}^{(k)}.$$

Therefore for integer  $k > 1$  and  $s$  such that  $1 \leq s \leq k - 1$ , according to (3.4), the following equalities take place

$$\begin{aligned} b_k^s &= (-1)^{k+s} \frac{2^k}{s!} \sum_{j=1}^s (-1)^{j+1} \binom{s}{j} \left( \frac{j}{2} \right)^{[k]} = (-1)^{k+1} \frac{2^k}{s!} \sum_{j=1}^s (-1)^{s-j} \binom{s}{j} \left( (\sqrt{t})^j \right)_{|t=1}^{(k)} \\ &= (-1)^{k+1} \frac{2^k}{s!} \left( \sum_{j=1}^s (-1)^{s-j} \binom{s}{j} (\sqrt{t})^j \right)_{|t=1}^{(k)} = (-1)^{k+1} \frac{2^k}{s!} \left( (\sqrt{t} - 1)^s \right)_{|t=1}^{(k)}, \end{aligned}$$

i.e. (3.6) it true for the mentioned  $k$  and  $s$ . Formula (3.6) is correct for  $s = k \geq 1$  too. Indeed, substituting  $s = k$  to (3.6) we obtain

$$\begin{aligned} b_k^k &= (-1)^{k+1} \frac{2^k}{k!} \left( (\sqrt{t} - 1)^k \right)_{|t=1}^{(k)} = (-1)^{k+1} \frac{2^k}{k!} \left( \frac{k}{2\sqrt{t}} (\sqrt{t} - 1)^{k-1} \right)_{|t=1}^{(k-1)} \\ &= \frac{(-1)^{k+1}}{\sqrt{t}} \frac{2^{k-1}}{(k-1)!} \left( (\sqrt{t} - 1)^{k-1} \right)_{|t=1}^{(k-1)} = -b_{k-1}^{k-1} = (-1)^{k-1} b_1^1. \end{aligned}$$

If substitute  $s = k = 1$  to (3.6), then we have  $b_1^1 = 1$  and therefore  $b_k^k = (-1)^{k-1} = (-1)^{k+1}$ . Earlier was obtained that  $b_k^k = (-1)^{k+1}$  and hence the formula (3.6) is valid for  $s = k$ .  $\square$

Let us make one more transformation to formula (3.6) to calculate the numbers  $b_k^s$ . We prove one auxiliary Lemma.

**Lemma 3.4.** Let  $f \in C^k(a, b)$ , then for  $k \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$

$$(f^s(t))^{(k)} = \sum_{i_1 + \dots + i_s = k} \binom{k}{i_1 \dots i_s} f^{(i_1)}(t) \dots f^{(i_s)}(t), \quad t \in (a, b). \tag{3.7}$$

*Proof.* For  $k = 0$  this formula is obvious. For  $k = 1$  we have the equality  $(f^s(t))' = s f^{s-1}(t) f'(t)$  and by the formula (3.7) we obtain

$$\begin{aligned} \sum_{i_1 + \dots + i_s = 1} \binom{1}{i_1 \dots i_s} f^{(i_1)}(t) \dots f^{(i_s)}(t) &= f'(t) \left( f^{(0)}(t) \right)^{s-1} + \\ &\dots + \left( f^{(0)}(t) \right)^{s-1} f'(t) = s f^{s-1}(t) f'(t). \end{aligned}$$

This means that (3.7) is true for  $k = 1$ . Now let (3.7) be true for some  $k \in \mathbb{N}$ . Prove it for  $k + 1$ .

Indeed, using the assumption we can write

$$\begin{aligned}
 (f^s(t))^{(k+1)} &= ((f^s(t))^{(k)})' = \left( \sum_{i_1+\dots+i_s=k} \binom{k}{i_1 \dots i_s} f^{(i_1)}(t) \dots f^{(i_s)}(t) \right)' = \\
 &= \sum_{i_1+\dots+i_s=k} \binom{k}{i_1 \dots i_s} (f^{(i_1+1)}(t) \dots f^{(i_s)}(t) + \dots + f^{(i_1)}(t) \dots f^{(i_s+1)}(t)) = \\
 &= \sum_{i_1+\dots+i_s-1=k} \left( \binom{k}{i_1-1 \dots i_s} + \dots + \binom{k}{i_1 \dots i_s-1} \right) f^{(i_1)}(t) \dots f^{(i_s)}(t) = \\
 &= \sum_{i_1+\dots+i_s=k+1} \binom{k+1}{i_1 \dots i_s} f^{(i_1)}(t) \dots f^{(i_s)}(t).
 \end{aligned}$$

This is what we desired. By the induction method Lemma is proved. □

### 4 Recurrence Relations

For  $k, s \in \mathbb{N}$  consider the notation

$$a_k^s = \left( (\sqrt{t} - 1)^s \right)_{|t=1}^{(k)}. \tag{4.1}$$

Investigate a triangle  $A$ , which is similar to the triangle (1.2), but consisting from the numbers  $a_k^s$  for  $k, s \in \mathbb{N}$  and  $s \leq k$ . If  $s = 0$  or  $k = 0$ , then the values of  $a_k^s$  can be calculated as  $a_k^0 = a_0^s = 0$ . Besides by (4.1)  $a_1^1 = \frac{1}{2}$  and  $a_0^0 = 1$ .

**Lemma 4.1.** For the numbers  $a_k^s$  the recurrence relation

$$a_{k+1}^s = \left( \frac{s}{2} - k \right) a_k^s + \frac{s}{2} a_k^{s-1}, \tag{4.2}$$

holds,  $a_k^s = 0$  for  $s > k$  and  $a_k^0 = 0$  for  $k \in \mathbb{N}$ , but  $a_0^0 = 1$ .

*Proof.* It is not hard to notice that if the degree  $s$  is more then the order of derivative  $k$ , then from (4.1) it follows that  $a_k^s = 0$ . The values of  $a_1^1$  and  $a_0^0$  are calculated before this Lemma by the formula (4.1). Let us use (3.7) from Lemma 3.4 provided  $f(t) = \sqrt{t} - 1$ . Because

$$(\sqrt{t} - 1)^{(m)} = \frac{1}{2} \left( \frac{1}{2} - 1 \right) \dots \left( \frac{1}{2} - m + 1 \right) t^{\frac{1}{2}-m} = \frac{(-1)^{m-1}}{2^m} (2m - 3)!! t^{\frac{1}{2}-m},$$

we can write

$$\begin{aligned}
 \left( (\sqrt{t} - 1)^s \right)^{(k)} &= \sum_{i_1+\dots+i_s=k, i_j>0} \binom{k}{i_1 \dots i_s} (-1)^{k-s} \frac{(2i_1 - 3)!! \dots (2i_s - 3)!!}{2^k} t^{\frac{s}{2}-k} \\
 &+ s \sum_{i_1+\dots+i_{s-1}=k, i_j>0} \binom{k}{i_1 \dots i_{s-1}} (-1)^{k-s+1} \frac{(2i_1 - 3)!! \dots (2i_{s-1} - 3)!!}{2^k} t^{\frac{s-1}{2}-k} (\sqrt{t} - 1) \\
 &+ s(s-1) \sum_{i_1+\dots+i_{s-2}=k, i_j>0} \binom{k}{i_1 \dots i_{s-2}} (-1)^{k-s+2} \frac{(2i_1 - 3)!! \dots (2i_{s-2} - 3)!!}{2^k} t^{\frac{s-2}{2}-k} (\sqrt{t} - 1)^2 \\
 &+ \dots = a_k^s t^{\frac{s}{2}-k} + s a_k^{s-1} t^{\frac{s-1}{2}-k} (\sqrt{t} - 1) + s(s-1) a_k^{s-2} t^{\frac{s-2}{2}-k} (\sqrt{t} - 1)^2 + \dots. \tag{4.3}
 \end{aligned}$$

Therefore

$$\left((\sqrt{t}-1)^s\right)^{(k+1)} = a_{k+1}^s t^{\frac{s}{2}-k-1} + s a_{k+1}^{s-1} t^{\frac{s-1}{2}-k-1} (\sqrt{t}-1) + \dots$$

On the other hand if differentiate (4.3) then we obtain

$$\left((\sqrt{t}-1)^s\right)^{(k+1)} = \left(\frac{s}{2}-k\right) a_k^s t^{\frac{s}{2}-k-1} + \frac{s}{2} a_k^{s-1} t^{\frac{s-2}{2}-k} + (\sqrt{t}-1)F(t).$$

Assuming in the previous equalities  $t = 1$  we obtain

$$a_{k+1}^s = \left(\frac{s}{2}-k\right) a_k^s + \frac{s}{2} a_k^{s-1},$$

which was to be proved. □

Notice that an equation, similar to (4.2)  $a_{k+1}^s = (k-2s+1)a_k^s + \frac{1}{2}a_k^{s-1}$  was used in (5) when constructing a system of special polynomials.

Values of  $a_k^s$  with the help of (4.2) were calculated for several cross rows of the triangle  $A$ , which are parallel to the sides of the triangle, and according to the obtained formulas we made an assumption about the values of  $a_k^s$ . Omitting these calculations we just prove the found formula.

**Lemma 4.2.** *Solution of the recurrence relation (4.2) under the boundary conditions  $a_k^0 = a_k^{k+1} = 0$ ,  $k \in \mathbb{N}$  and  $a_0^0 = 1$  is unique and has the form*

$$a_k^s = (-1)^{k+s} \frac{(2k-s-1)!s}{2^k(2k-2s)!!} = (-1)^{k+s} \frac{(2k-s-1)!s}{2^{2k-s}(k-s)!}, \tag{4.4}$$

where  $s, k \in \mathbb{N}$  and  $s \leq k$ .

*Proof.* Prove the existence and uniqueness of the solution of equation (4.2) under the mentioned boundary conditions. Sketch the problem

$$\begin{array}{ccccccc} & & & & 1 & 0 & \\ & & & & 0 & a_1^1 & 0 \\ & & & & 0 & a_2^1 & a_2^1 & 0 \\ & & & & 0 & a_3^1 & a_3^2 & a_3^3 & 0 \\ \dots & a_{k+1}^s & = & (s/2-k)a_k^s & + & s/2a_k^{s-1} & \dots \end{array}$$

1<sup>0</sup>. Assuming  $k = 0$  and  $s = 1$  in (4.2), according to the boundary conditions, we obtain  $a_1^1 = \frac{1}{2}a_0^1 + \frac{1}{2}a_0^0 = \frac{1}{2}$ . Formula (4.4) gives the same value for  $k = s = 1$ .

2<sup>0</sup>. Calculate the values of  $a_k^1$  using the formula (4.2). Taking into consideration that  $a_k^0 = 0$  we find

$$\begin{aligned} a_k^1 &= \left(\frac{1}{2}-k+1\right) a_{k-1}^1 + \frac{1}{2} a_{k-1}^0 = -\frac{2k-3}{2} a_{k-1}^1 = (-1)^{k-1} \frac{(2k-3)!!}{2^{k-1}} a_1^1 = \\ &= (-1)^{k-1} \frac{(2k-3)!!}{2^k} = (-1)^{k+1} \frac{(2k-1)!!}{2^k(2k-1)}. \end{aligned}$$

This formula was derived under the condition  $k > 1$ , but it is true for  $k = 1$  too. By the formula (4.4) we obtain the same value

$$a_k^1 = (-1)^{k+1} \frac{(2k-2)!}{2^k(2k-2)!!} = (-1)^{k+1} \frac{(2k-3)!!}{2^k}.$$

3<sup>0</sup>. Calculate the values of  $a_k^k$  using the formula (4.2). Taking into consideration that  $a_k^{k+1} = 0$  we find

$$a_k^k = \left(\frac{k}{2}-k+1\right) a_{k-1}^k + \frac{k}{2} a_{k-1}^{k-1} = \frac{k}{2} a_{k-1}^{k-1} = \frac{k!}{2^{k-1}} a_1^1 = \frac{k!}{2^k}.$$



This formula was derived under the condition  $k > 1$ , but using the equality  $a_1^1 = \frac{1}{2}$  we conclude that it is true for  $k \geq 1$  too. By the formula (4.4) we obtain the same value

$$a_k^k = \frac{(2k - k - 1)!k}{2^k(2k - 2k)!!} = \frac{k!}{2^k}.$$

Thus the values of  $a_k^s$  on the left and right sides of the triangle  $A$  are obtained and the formula (4.4) gives a solution of the equation (4.2) on the both sides of the triangle  $A$ . Equation (4.2) has such a structure that by the known values of  $a_k^s$  on the both sides of the triangle  $A$  all values of  $a_k^s$  inside the triangle  $A$  are uniquely determined from the equation (4.2). Therefore if numbers  $a_k^s$ , defined from (4.4), are satisfied to equation (4.2) inside the triangle  $A$ , then formula (4.4) is determined a solution of equation (4.2). Let us prove it. Let  $a_k^s$  be found from (4.4). Substitute them to the right-hand side of (4.2). We have

$$\begin{aligned} a_{k+1}^s &= \left(\frac{s}{2} - k\right) a_k^s + \frac{s}{2} a_k^{s-1} = (-1)^{k+s} \left(\frac{s}{2} - k\right) \frac{(2k - s - 1)!s}{2^k(2k - 2s)!!} + (-1)^{k+s-1} \frac{s}{2} \frac{(2k - s)!(s - 1)}{2^k(2k - 2s + 2)!!} \\ &= (-1)^{k+s-1} \frac{(2k - s)!s}{2^{k+1}(2k - 2s + 2)!!} ((2k - 2s + 2) + (s - 1)) = (-1)^{k+s+1} \frac{(2k - s + 1)!s}{2^{k+1}(2k - 2s + 2)!!}, \end{aligned}$$

i.e.  $a_{k+1}^s$  can be found from (4.4) too. Proof is complete.  $\square$

## 5 Triangle $B$ and the Neumann Boundary Value Problem

Let us come back to the triangle  $B$ .

**Lemma 5.1.** Numbers  $b_k^s, s, k \in \mathbb{N}$  are the unique solution of the recurrence relation

$$b_{k+1}^s = (2k - s)b_k^s - b_k^{s-1} \tag{5.1}$$

under the boundary conditions  $b_k^1 = \frac{(2k - 1)!!}{(2k - 1)}$  and  $b_k^k = (-1)^{k+1}, k \in \mathbb{N}$  (according to (3.3)) and are defined by the equality

$$b_k^s = (-1)^{s+1} \binom{2k - s - 1}{s - 1} \frac{(2k - 2s + 1)!!}{(2k - 2s + 1)}. \tag{5.2}$$

*Proof.* By the formulas (3.6), (4.1) and (4.4) we write

$$b_k^s = (-1)^{k+1} \frac{2^k}{s!} a_k^s = (-1)^{s+1} \frac{(2k - s - 1)!}{(2k - 2s)!!(s - 1)!} = (-1)^{s+1} \binom{2k - s - 1}{s - 1} \frac{(2k - 2s + 1)!!}{(2k - 2s + 1)},$$

i.e. formula (5.2) defines the triangle  $B$ . On the both sides of the triangle  $B$  formula (5.2) gives

$$b_k^1 = \binom{2k - 2}{0} \frac{(2k - 1)!!}{(2k - 1)} = (2k - 3)!!, \quad b_k^k = (-1)^{k+1} \binom{2k - k - 1}{k - 1} \frac{(2k - 2k + 1)!!}{(2k - 2k + 1)} = (-1)^{k+1},$$

which coincide with the boundary conditions. If substitute the value of  $a_k^s = (-1)^{k+1} \frac{s!}{2^k} b_k^s$  to the equation (4.2), then we obtain

$$(-1)^{k+2} \frac{s!}{2^{k+1}} b_{k+1}^s = \left(\frac{s}{2} - k\right) (-1)^{k+1} \frac{s!}{2^k} b_k^s + \frac{s}{2} (-1)^{k+1} \frac{(s - 1)!}{2^k} b_k^{s-1}.$$

After canceling on  $(-1)^{k+2} \frac{s!}{2^{k+1}}$  we obtain the equation (5.1)

$$b_{k+1}^s = (2k - s)b_k^s - b_k^{s-1}.$$

Notice that for the binomial coefficients we have the relation  $C_{k+1}^s = C_k^s + C_k^{s-1}$ .  $\square$



- c Solvability condition of the Neumann boundary value problem (1.1) for the polyharmonic equation in the unit ball is explicitly given in the form (5.4) .

## Acknowledgment

This paper is financial supported by the Ministry of Education of Russian Federation, grant No. 14.B37.21.0613.

## Competing Interests

The authors declare that no competing interests exist.

## References

- [1] Bitsadze A.V. Some properties of polyharmonic functions. *Differential Equations*. 1988;24(5):543-548.
- [2] Bondarenko B.A. Generalized Pascal triangles and pyramids: Their fractals, graphs and applications (trans, from Russian; ed. R. Bollinger), Santa Clara, Calif: The Fibonacci Association; 1993.
- [3] Karachik V.V. A problem for the polyharmonic equation in the sphere. *Siberian Mathematical Journal*. 2005;32(5):767-774.
- [4] Karachik V.V., Turmetov, B.Kh., Bekaeva A. Solvability conditions of the Neumann boundary value problem for the biharmonic equation in the unit ball. *International Journal of Pure and Applied Mathematics*. 2012;81(3):487-495.
- [5] Karachik V.V. On some special polynomials. *Proceedings of American Mathematical Society*. 2004;132(4):1049-1058.
- [6] Karachik V.V. *P*-Latin matrices and Pascal's triangle modulo a prime. *Fibonacci Quarterly*. 1996;34(4):362-372.
- [7] Karachik V.V. Construction of polynomial solutions to some boundary value problems for Poisson's equation. *Computational Mathematics and Mathematical Physics*. 2011;51(9):1567-1587.
- [8] Karachik V.V., Abdoulaev S. Construction of polynomial solutions to the Dirichlet boundary value problem for the 3-harmonic equation in the unit ball. *Pure and Applied Mathematics Journal*. 2012;1(1):1-9.

---

©2013 Karachik & Abdoulaev; This is an Open Access article distributed under the terms of the Creative Commons Attribution License <http://creativecommons.org/licenses/by/2.0>, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

**Peer-review history:**

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)  
[www.sciencedomain.org/review-history.php?iid=240&id=6&aid=1720](http://www.sciencedomain.org/review-history.php?iid=240&id=6&aid=1720)